6 5 4 2
8 | ’ | | 4 | N | | 1

ITEM NO.| PART NUMBER DESCRIPTION QTY.
1 T1503KT40A Universal ring mount 10"-40" Kit 1
2 K1730KT-05 Support Weldment, T-Arm Stabilizer 3
3 72026KT-01 Mounting Weldment, T-arm Stabilizer 3
(@) 4 K1730KT-06 Standoff Angle for Sector Frame, 52" 6
2X Zs O 5 K4000KT Plate for work support T-arm 6
\‘ °°:°° O 6 H1029KT7GCB Carriage Bolt, 5/8"-11 x 7", Full Thread 12
S 12X 6 3x 7 |H1029KT214GA3 Bolt, 5/8"x2-1/4" (A325) HH, HDG 24
"
\ 36x( 10 8  |H3012KT58GSA3 Flat washer, 5/8", SAE (A325), HDG 48
SCALE1:6 2 ’ °ffe 2 9  |H3002KT58G Lock washer, 5/8", HDG 36
\
/ 48X( 8 10  |H2002KT58GA3 Nut, 5/8'HH, HDG (A325) 36
36x( 9 DETAIL J 11 |K1032KT214-2 5/8" x 2-1/4" A325 bolt kit (4 bolts) 3
SCALE1:6 12 |K2220KT12iA Threaded rod Kit 5/8" x 12'(4 rods)HDG 1
6X{ 4 13 |K100OKT8-534 Half Clamp, Medium 5-3/4" Center 2
41"
Note: ) o 4 )6X
5\& When supporting an existing 1 )1x
o\
2\2 round member, use saddle clamp. (o,
N o/ o
N
L]
[ X -9 G4
=
. s o ey <
\ 2
%
‘) .
9|
S| N 3
36X 36X 48X 24X U= - When double bolt pattern D ®
is used, 45° angle is set.
When single bolt is used, .
the angle is adjustable. .

9 ! Length of angle might need
to be cut, depending on
individual site requirements.

UNLESS OTHERWISE SPECIFIED: nave | pae (N
DIVENSIONS ARE IV NCHES e T Tooe R KENWOOD TELECOM
FRACTIONAL: :'JJ32 CHECKED TITLE:
ANGULAR: 2 HH
ONE PLACE DEGAL 2 06 Stabilizer/Support Assembly
TWO PLACE DECIMAL: .03 . .
THREE PLACE DECIMAL: £ .010 MFG APPR. for ex|st|ng monopole mounts
‘;gfg;:;gjg;’gﬁ‘c PROPRIETARY AND CONFIDENTIAL W/Rlng Mount
MATERIAL THE INFORMATION CONTAINED IN THIS REV
e Rl R
TKENng?DM s \éw\grikﬁv)végjéngEE\ClEggE'\;\lgERM\SsloN OF T ] 730 KT_S F
770 973.0550 Oiice (170)S74 3100 18 | D0 NOT SCALE DRAWING PROHBITED SCALE: L:16] WEIGHT: 232.15 [ SHEET1OF 1
T

8 ' 7 ' 6 ' 5 ! 4 ' 3 I 2 1




